N = 0l & At & Ml A

AR NEETAIYA SN S
HH: WHRES(=T)

S WEAHAHX = (Sl & &)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-E" HlnE2
aotr=E AL A 32,006,854 28,006, 854 4,000,000

£ 500,000 500,000 0

< 770,000 770,000 0

Al 30,736,854 26,736,854 4,000,000

=& 11,787,660 10,287,660 1,500,000

= 500,000 500,000 0

< 770,000 770,000 0

Al 10,517,660 9,017,660 1,500,000

Hees(==) 6,700,000 5,200,000 1,500,000

WEHHX S 6,700,000 5,200,000 1,500,000

LHEHeH X = 6,700,000 5,200,000 1,500,000

701 JIEtSI HEHES 6,700,000 5,200,000 1,500,000

03 BIILELIHUNENES 6,700,000 5,200,000 1,500,000
Od=+==ANHEEYH HES

2 & 6,700,000,000& = 14 6,700,000 5,200,000 1,500,000




Al = 0 &
ABt T AR A SN BT
Ao+ =2
Ngstaz W=7

g Al

2RI BIEH) - HRAY - BES 0l &F 24 p/E-E" HlnE2

ini; 20,219,194 17,719,194 2,500,000

Lot 2 12,419,194 10,919,194 1,500,000

Nedt=E M=+ 12,419,194 10,919,194 1,500,000

EBHE 018 ZEXFR(ZY UEHIDH) MiS2AS 12,419,194 10,919,194 1,500,000

401 Al Bl 28I 12,419,194 10,919,194 1,500,000

01 A& HI 11,309,852 9,809,852 1,500,000
OHE 018 ZIdXA(ZEY dSHIZH) o=

AR (AIHIZFED) 1,500,000,000& * 14! 1,500,000 0 1,500,000

Heas(otant) 7,800,000 6,800,000 1,000,000

HEAHHK = 7,800,000 6,800,000 1,000,000

LHEHH X = 7,800,000 6,800,000 1,000,000

701 JIEtSI HSEES 7,800,000 6,800,000 1,000,000

03 BIILELEINHMENES 7,800,000 6,800,000 1,000,000

Ot AASESH =3
2 & 7,800,000,000& = 1 7,800,000 6,800,000 1,000,000




